THUBRZRIL (R0 : —H

RER)

BERRE A WEAE HEHE pw | TS L
JtimiE AL R AREt 52— — RIS 12 0.035 ( < 00050 ) 0.17
dtimiE AR E R ALIRD — IR 12 00059 )| ( 00030 ) 0.025
dtimE AR 3235 — IR 12 0.036 ( < 00050 ) 0.12
El:3 0 BT PR NPRAIER — R 12 0.034 (00060 ) 0.065
dtisE BT BEBINERAER — IR 12 0018 ( < 00050 ) 0.059
dtigE =g B/RAER — IR 12 0.0080 ( < 00050 ) 0.044
El:3 0 =g RHNED — RS 12 00050 )| (00050 ) 0.010
El::3 0 FiEm BOHBAER — R 12 0.054 ( < 00090 ) 0.15
sHE HEHT 12N — RIS 12 0.0070 (00050 ) 0.023
AR N0l BhBTSE— AR D — RS 12 0.0080 (< 00050 ) 0.017
EHE JAYEL:i) NEINPEF —HRIREE 12 0.015 ( < 00050 ) 0.032
EFE BETH BREAB — IR 12 0.0070 ( < 00050 ) 0.017
HFR A L] — RS 12 0.041 (00040 ) 0.15
HFR i) It EHFEED — RS 12 0.022 (< 00040 ) 0.061
BFE —Fm HER — RIS 12 0.014 (< 00040 ) 0.048
HEE IWETEREFR hHH — RS 12 0.042 (o018 ) 0.085
=1 IWETEREFR kR — RS 12 0.034 (o016 ) 0.048
HHE HET EE—RBBASAER — RS 12 0.25 0.097 0.54
=R K BT —BBREASKAER — RS 12 0.22 (o016 ) 0.42
=R SEEEAR EREER —RIBLE 12 00077 )| ( < 00028 ) 0.023
MEE BT LElG) — IR 12 0.013 (00070 ) 0.053
WiziR Wifigth Wizt BETE —HRIREE 12 0.018 ( 0.011 ) 0.035
wie SEETH EEEER —HRIREE 12 0.016 (< 0010 ) 0.032
BER Al AR AN B —HRIREE 12 00050 ) | ( < 00030 ) 0.015
BER Al FEB —BIREE 12 00040 )| (00030 ) 0.015
BER LWhET BEH — RIS 12 0.024 ( < 00040 ) 0.14
FR KET KERIB — R 12 0.024 (< 00028 ) 0.074
Bl =) B HRTR —hRIBLE 12 0.029 (< 00028 ) 0.064
TR tiEm TIHRERE —HRIREE 12 0.036 (< 00028 ) 0.17
FR IS BEMSF 3 (HAIER) — RS 12 0.023 ( < 00028 ) 0.039
TR SFET SAEREITD —BIREE 12 0.039 (< 00028 ) 0.10
FR T HETIEARRD — RS 12 0018 ( < 00028 ) 0.045
HAE EREH BN — RIS 12 0.017 (< 00060 ) 0.049
AR kil ERTARHBERNE — IR 12 0.38 0.11 1.1
AR HAT KEFE — RS 12 027 0.1 0.63
HAR KARH BitREEL 52— —ARIBE 12 0.21 0.082 0.48
AR THM AEER — RS 12 0.68 0.21 1.9
HER BT HIERD — RIS 12 0.042 (< 0030 ) 0.12
HER BT BEX — R 12 0.030 (003 ) 0.060
HER BT hEARE — IR 12 0.060 (003 ) 0.32
BER pN:: i) ABE—H#F —BRIREE 5 0.038 (< 000070 ) 0.097
HER BET BERE—EH — RS 6 0.016 (< 000070 ) 0.030
HER #m EINE1—BD — RS 6 0.020 0.015 0.027
BER R RHEI—RB —HRIREE 5 0.025 ( < 000070 ) 0.038
HER SWFERHETR SVFERRAAIER — RS 12 0.069 0.015 0.32
HER SN FEREHR EWAER — RS 12 0.061 0.021 0.17
HER SV FEREHR HEAIE R — RS 12 0.070 0.017 0.19
HER SVFERAER REREHR — R 12 0.067 0.023 0.26
HER SN fFERPRR BEMEHEL S— — RS 12 0.070 0.020 0.30
BER JIlgr NI EEAIER — IR 12 0.081 ( 0.010 ) 0.35
BER JIlgr NI A B — IR 12 0.034 (< 00016 ) 0.11
BES AT ERB —HRIREE 12 0.060 (0017 ) 0.22
HER ne NOHZAER — IR 12 0.035 0.0080 0.11
HER ng NOHEENER —RIBHE 12 0.035 0.0080 0.093
HER R LEAER — R 12 0.043 (< 00028 ) 0.11
BHER hoZE BEHFEERCH — RS 12 0.052 0.017 0.15
BES EXANTN ) LY —HRIREE 12 0.066 (0012 ) 0.23
BER F AT & B &R AT —HRIREE 12 0.073 0.021 0.27
BES AT HMBF —HRIREE 12 0.039 (00090 ) 0.15
FER FERPRR EINITNE — R 12 0.17 0.056 0.49
FEE FEHHRK BIEF —HRIREE 12 0.18 0.061 0.40
FEE FEHEER BERAE —HRIREE 12 0.18 0.068 0.53
FEE FEHHX FEHKER —HRIREE 12 0.13 0.061 0.19
FEE BFh SFHHRE 2 — — BB 12 00060 )| ( < 0011 ) < 0012
FrE HllH ik a=:1G) —hRIBE 12 0.027 (< 00029 ) 0.089
FER MET MEERER — R 12 0.026 (< 00040 ) 0.15
FEE FEH SELBTRD — IR 12 00060 ) | ( < 0011 ) < 0012
FEE WEM WEREXR —HRIREE 12 0.047 ( 0.015 ) 0.21
FEE REATH FREMRED —hRIBLE 12 00070 )| ( < 0012 ) <0014
FEE R JIBRIER — RIS 12 0.11 0.019 0.61
FEE Be Il HEBRERPRS —HRIREE 12 0.0060 )| (< 0012 ) < 0013
FEB Bt EEARBD —hRIBLE 12 00060 )| ( < 0012 ) <0014
FEE T Hy ERER —HRIREE 12 0.093 ( < oot ) 0.59
FEE =Eidiil HHERER —hRIBE 12 00060 )| ( < 0012 ) <0014
FEE R AR SR AT HERTS A= A# L 58— —HRIREE 12 00060 )| ( < 0012 ) < 0013
IR PRX PRXIERD —BIREE 12 0.13 (0040 0.30
R HEX ERRRHER —BIREE 12 0.070 (< 0040 ) 0.19
HIRAD XHK AEREHRD —HRIREE 12 0.17 (< 0040 ) 042
HEA HEAXK HESRHEAR — RS 12 0.080 (0040 ) 0.20
FIRAR RIBX RIBRKIIET B —HRIREE 12 0.070 (< 0040 ) 0.20




THUAZMIL (FRL0EE : —RIRER)
HERFRE FFEH B RE ( ijfa) B TR (1 g/m3) _ i
AR BHEX |BERXRAHIEF —ARIREE 0.060 0.040 0.16
IR BIR RURBEHHE —HRIREE 0.080 0.040 0.22
AR IENIK ARNRETIR —HRIREE 0.090 0.040 0.22
AR NEFH AEFEH — IR 0.018 0.0060 0.051
AR NEFH HEHD —HRIREE 0.021 0.0050 0.055
AR NEHTH NEHHREE 2— —HRIREE 0.060 0.040 0.10
A LNz AT ERER — RS 0.060 0.040 0.15
AR EE EBERR BEEBERS — IR 0.030 0.040 0.060
HENE |EETRRE BRERNERE —HRERE 0.061 < _0.0070 0.19
#MENNE [EHEER SEAER —HRIREE 0.10 0.060 0.17
HENE ST HERR PRAER — RS 0.049 < 00080 0.13
HENE |EEEHRRK HEFAIER — RS 0.037 < 0.0028 0.14
WENE |HAEH HAETHEEERE — RS 0.029 0.0080 0.074
WENE AT BETREVA—0EE — R 0.046 <_0.0080 0.097
HENE |FIEE TBINERRE — R 0.030 0.0028 0.10
WENE |BRE AR AN — RS 0.010 0.0080 0.012
WENE |ERE BRTRAD — IR 0.030 <_0.0030 0.095
EINEION INEETRETE — IR 0.022 < 00016 0.064
HENE |EHH EHHRAD — RS 0013 <_0.0016 0.037
#HENE |EXRE EAXTRAD — R 0.020 <_ 00016 0.047
#ine FBHEK AL —hRIBHE 0.0090 < 0.0070 (0024 )
3 FiBmx HER —hRIBLE 0.0080 < 0.0070 (0024 )
R ERIEEHE — IR 0.020 < 0030 (< 0030 )
#Eh Fdo) —RIBE 0.020 < 0030 (< 0030 )
wEH pN:15) —hRIBLE 0.020 < 0030 (< 0030 )
Lt BEEER —BIRER 0.040 < 0030 0.15
ekl hER —hRIBLE 0.020 < 0030 < 0030
B BWWEER —RIBLE 0.018 < 0.0050 0.098
Sk INGABEILE — RIS 0.030 0.030 0.050
AE tEh tEAER — B 0.0050 0.0040 < 0017
AE RN INAEIED — RIS 0.0050 < 0.0040 < 0017
BHE ficEidin BHEHB — IR 0.082 0012 0.15
BHE B BHB — IR 0.023 < 0.0090 0.037
BHE SEh HARR — IR 0.022 < 00090 0.055
BHE giTH L) —HRIREE 0.062 0010 ) 0.11
BHE RIH =EB —hRIBE 0.077 0024 ) 0.11
Y Giliciizl FHETRAERS — IR 0.036 0016 ) 0.083
Y Et+EMAT EHAER — RS 0.032 0017 ) 0.051
Y XAM XARER — RS 0.036 < 0014 ) 0.051
EHR EHH BEREBRAH — RS 0.022 < 00070 ) 0.038
EHR EHH B/HAER — RS 0013 < 00040 ) 0.036
EHE [ il WD —hRIBE 0.029 < 00070 ) 0.062
EHR i) LAB — RS 0.024 < 00070 ) 0.042
EHR Aa ) — R 0.021 < 00070 ) 0.037
EHE EATH EiEilo) — R 0.058 < 00070 ) 0.19
EHE FEH FHRZ — RS 0.039 < 00070 ) 0.067
I 218 I B It BT AL ERAITE B —HRIREE 0.0084 < 0.0030 ) 0.025
I e I 2 chguE S —fRIE 0.0095 < 00019 ) 0.024
I R Kigm |BAAE KB & AR — R 0014 < 00019 ) 0.066
FREE BEHER HBERNEAER —HRIREE 0.022 < _0.0018 ) 0.064
FREE BEHER AR/ NPRAIE B —HRIREE 0.021 < _0.0018 ) 0.056
FREE A TH B AT X REBFPERAER —HRIREE 0.017 < _0.0018 ) 0.048
Edil EE AKX SEERAER — R 0.047 < 00018 ) 0.21
B2 EE AKX BERERE—NPRAER — R 0.024 < 00018 ) 0.11
FREE EMT PR AR —HRIREE 0.098 0.019 ) 0.26
B2 BATH EETRHE —RIBHE 0.050 < 00080 ) 0.076
BEE =+ FERNEA D — RIS 0.14 < 00070 ) 0.24
FHAE IR EET |EEHREED — RIS 0.13 < 00060 ) 0.27
B2 #ll BIITHRAAD — RS 0.090 < 00080 ) 0.21
FHAE R KHH BATRAD — RS 0.23 < 0010 ) 11
EHE FHETTBR ERAEER — RS 0.019 <_0.0040 0.099
EHE ZHEHHIIR EBRXHH — RS 0.033 0.019 0.067
B 2iEH pN:15) —hRIBLE 0.017 (< 00040 ) 0.089
FHE 25T =115] —hRIBE 0.017 (< 00040 ) 0.080
EHE s v i 7 AR LA SR B — R 0.0099 (< 00019 ) 0.028
EHE HHT FHETFERS — RS 0.029 (00050 ) 0.065
EHE EMHT sh (= $TAD — RS 0.024 (00060 ) 0.059
BEE N INMEERE — RIS 0.038 (< 00030 ) 0.12
EME iR TR RAD — RS 0.017 ( < 00018 ) 0.052
EHE ¥4l AN — RS 0.24 ( < 00040 ) 1.1
=58 Pa B el hsEISt o) — R 0.026 ( < 00019 ) 0.060
=58 B LEERAER — R 0.016 (00040 ) 0.034
=58 AR HABR S /N —IRIEE 0.022 (< 00040 ) 0.10
=58 2EH ZERREFE — RS 0.019 ( < 00040 ) 0.070
ZER FEm FEGy EPPE —HRIREE 0.014 ( < 00040 ) 0.030
HER Kigm BERHERFE S — IR 0.057 0.022 0.15
HEE ER ERI SR —BIREE 0.016 (< 0013 ) 0.037
HER RIEM RER — IR 0.019 (0013 ) 0.060
HER % 1) BER —hRIBE 0.027 (< 0013 ) 0.058
HEE fS1=0il BREARTE — IR 0.016 (< 0013 ) 0.034




THUAZMIL (FRL0EE : —RIRER)

EERFRA R BT S (Tﬁfm - TREFE (11 g/m3) _ i
HER BT FEIR — B 0.016 0013 ) 0.041
AT REHERK ERRBEFE —HRIREE 0.0089 (< _0.00030 ) 0.047
AT REHER B EL L EHA — IR 0.0097 (_<_0.00030 ) 0.051
AT At BB AL BT ALE — IR 0.020 0.0096 0.041
b KT FHR EBRERD — RS 0.045 00040 ) 0.20
b PN ENERD — IR 0.086 0010 ) 0.59
KR AF RHTER EER —RIBLE 0.12 (00070 ) 0.28
KBRAF RHEIX EWAE —HRIREE 0.017 ( < 00040 ) 0.039
KR Ll FHEB —hRIBHE 0.021 (< 0015 ) 0.045
b W WwHT LB ER — RS 0.022 ( < 00040 ) 0.045
b RAEH RKEHEHB — R 0.038 ( < 00090 ) 0.13
KR S EfB —hRIBLE 0.012 (< 00030 ) 0.022
KR AF wAEH WETRTR —hRIBHE 0.023 (< 0015 ) 0.050
b J\ET NETREFE — RS 0.042 0.022 0.059
b REFH EFRERE — R 0.028 0011 ) 0.062
KIRFF E@AHKH BRI —hRIBLE 0.024 (< 00090 ) 0.059
b BE)IH BRI & — RS 0.024 ( < 00090 ) 0.045
b BFHFT BHFHERHE — RS 0.030 0012 ) 0.060
b HABRTH FAREEI—F — RS 0.060 00060 ) 0.27
EER HWEHAER FBHATAER — IR 0.045 0.020 0.097
EER HEHEERX EEEBAKAER — R 0.058 0015 0.10
EER HEHILR HAEASRAER — R 0.047 0014 0.099
EER IERET JMRBIER — R 0.034 (00093 0.19
EER =10 Z EERBE —HRIREE 0.030 (< 0010 ) 0.053
EER BET RAREEE 5~ — RS 0.022 ( < 00080 ) 0.046
EER wmEm BEEHRTD —HRIREE 0.054 (00090 ) 0.16
EER WA NATHRATD — R 0.069 0.028 0.11
EER S ERHRAD — RS 0.045 0.023 0.086
EER Pkl FREHRAD — R 0.093 0.045 0.15
EER =HH ZHTRAS —HRIREE 0.14 0.049 0.31
=RE E3=41) EAREBER — R 0.056 0017 ) 0.091
=RE ZBH FEHMATERAER —HRIREE 0.036 0.0080 ) 0.12
=RE KEH KED — B 0.029 00090 ) 0.062
HMILE  |FnFl ARSI TS — IR 0.032 0016 ) 0.068
HMILE  |FnFal RAEHEAT — IR 0.022 0015 ) 0.048
MR |EEh BA N — RS 0.15 0.046 0.29
MILE |HES HETHENRES — RS 0.12 0017 ) 0.25
BWE Smm BWMEFAISTE —HRIREE 0.012 0.0080 ) ( < 0040 )
BmE KFH BMBKTRERD — R 0.017 0010 ) (<0040 )
BmE ==kl BRBASERENRS — IR 0.018 (00070 ) (<0040 )
BIRE I EERWTH —HRIREE 0.017 (00056 ) (0025 )
BIRE 25 ER Bk D 55 T EREDIE] —HRIREE 0.0048 ( < 00018 ) 0.024
& L2 i LU T X e N — RS 0.029 ( < 00050 ) 0.12
BN FELL AL R | ma /AR — RIS 0.016 (< 00050 ) 0.031
] (L1 R Bgm BB —HRIREE 0.035 0.0084 0.11
ENS 2l ZUERRB — RS 0.043 ( < 00090 ) 0.18
NS EHH BHEASAIER — RS 0.015 ( < 00060 ) 0.052
E NS EEm EFARAER — RS 0014 ( < 00070 ) 0.042
LS8 LEETRERR RIEBREAAIER —HRIREE 0.020 (< 00080 ) 0.059
LEBR EEMHHEX HONPRAER —ARIREE 0.027 (< 00080 ) 0.067
LBR amf BR/INERBD —RIBHE 0.027 (00060 ) 0.074
LEE af HENEEE — RIS 0.027 (00060 ) 0.060
L8R PR MRERE — R 0.042 (o010 ) 0.13
LEE Bl WAk NS — RIS 0.012 (< 00060 ) 0.023
LEE fEE BN — RIS 0.012 (< 00050 ) 0.024
LS8 EYN=12) EVNCTE N3] — IR 0.020 ( < 00080 ) 0.036
LBR HAHH HAER —RIBHE 0.049 (< 00040 ) 0.14
if]=] TBiH TR RMARD —HRIREE 0.036 (00070 ) 0.072
wog TE® BN — RIS 0.013 (00060 ) 0.030
wng &t A L N S ] — RS 0014 0013 0.014
wng pudiil EILPERB —HRIREE 0.048 0.047 0.050
BRE 1B P BB —HRIREE 0.081 0015 ) 0.24
EER BRI KB — RS 0.11 0.050 0.28
mER AREFERAL SET E4=15] — R 0.080 0018 ) 0.16
ENE B ENTAXEIZA =T 15— —HRIREE 0.011 <_0.0050 ) 0.036
)8 h&m ABHEFE — B 0.032 (< 0010 ) 0.070
)8 R R HEFTE — B 0.038 (< 0010 ) 0.089
)8 SR HEER — B 0.021 (< 0010 ) 0.036
ENE &I E0E SET ESAT&IEH —HRIREE 0.026 (< o010 ) 0.047
BER LT EABE — IR 0.099 (0010 ) 0.23
el FHET ERHER — B 0.0080 (< 0016 ) 0.016
BIER HRED EFFEL - KMERE 24— —HRIREE 0.041 ( < 0016 ) 0.18
pt ol F=takind NEB — B 0.020 (< 0032 ) (< 0032 )
pt ol F=takind HER — B 0.020 (< 0032 ) (< 0032 )
B Pl ARBEERD — RIS 0.0070 (< 00030 ) (< 0019 )
=l = I ELDET BFEARFER — RIS 0.0060 ( < 00060 ) (< 0020 )
EEe EAMETERR ENMBAR — RS 0.16 ( < 00050 ) 0.44
ERER EAMENEER REHAD — RS 0.071 (< 00050 ) 0.21
1akE IR EAMENEILR LA ERAID — RS 0.17 0.053 0.33
ERR BETHRR EHBD — R 0.024 00053 ) 0.046




ToUAZM) L (FR0EE  —iRIRE)

BERRE A WEAS HEHE paw | S o R (e/mY
EEE XEMET ERAEEBD GREH) —HRIREE 12 0.017 (< 00030 ) ~ 0.040
12k R ABX BRI R —HRIREE 12 0.033 ( 0.0070 ) ~ 0.065
ERE Il B — RS 12 0.036 (< 00060 ) ~ 0.075
BEE RgH R85 — B 12 0.038 (< 00060 ) ~ 0.071
EER EET EER —HRIREE 12 0.0090 ( < 00030 ) ~ 0.049
EBE FHEEH AR — B 12 0.0080 (< 00040 ) ~ 0.042
g EH I ERER — B 6 0.0098 (< 00030 ) ~ 0.025
RIFE BET tEMET A REE — IR 4 0.020 (< 0030 ) ~ (< 0030
RIFE &M B 25 5t B M 14 R A SE Pl —HRIREE 12 0.017 (< 00018 ) ~ 0.091
BEXE F&H FRTERHAS — IR 12 0.027 ( 0.0040 ) ~ 0.073
OB b Niik FFHRFRAER —HRIREE 12 0.019 (< 00030 ) ~ 0.053
AR i PERETER — IR 12 0.029 ( 00034 ) ~ 0.12
OB BHHEM FRERRERAT — IR 12 0.020 ( 0.0030 ) ~ 0.044
KRR Lis i) FEAL AR RAR — IR 12 0.023 (< 00030 ) ~ 0.063
HigE B BT RE —fRIBS 12 0.0050 ( < 00016 ) ~ 0.019
ERERE |BRE&M RS — IR 6 0.022 (< 00015 ) ~ 0.12
ERBE |EEMH EENREREL 24— —HRIREE 4 0.0072 ( < 00040 ) ~ 0.016
EREE |EBH BER — B 4 0.0063 (< 00015 ) ~ 0.017
BERBE |mEoFh BEOFEM KA —HRIREE 4 0.0066 ( 0.0027 ) ~ 0.017
3 RET BRED — B 6 0.0091 (< 00050 ) ~ 0.025

sk el ki) — IR 12 0014 ( < 00060 ) ~ 0.045

S%FM BERBHERD —HRIREE 12 0.010 ( < 00060 ) ~ (< 0040

E B ARE A | 2% 0 75 WA 14 RS 6 T —HRIREE 12 0.0032 (< 00018 ) ~ ( 0.0090

@ EFHEORTHE . FEHEN. &§AORARHE FTRERBTHLGEE. ZOEEFIMEETRRILIVS,

@ REFHHE(&/NME~RXE) ORTHE :

+ BR/MEXBRAENEN. B TRIERBTHIIHEE. [ <(FLAORHTRE JELTRRLTNS.
+ BRMEXBBRAEOEN., B TREU EEETRIERGTHLIBEE. [ GAIEME) JELTRRLTNS,
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THURZM) )L (FRSEE B R4 RED)

BERRE A WEAE HEHE pw | TS o R (e/mY
EHE JAYEL:i) BENEERB BREESH=] 12 00090 ) | ( < 00030 ) ~ 0.027
AFR =2EMH BamlIFRET2— B EF A RED 12 0.0090 (00040 ) ~ (0018
HFR SALER{E FHET HHRET—RRR B 5 S A TR D 12 0.010 (< 00040 ) ~ 0.025
IR i il AR P 12 0.016 (< 00028 ) ~ 0.041
HER i EMT XM AR 12 0.098 0.036 ~ 0.37
FER R 1B BI%E R 12 0.24 0.041 ~ 1.7
FER R BARER 12 0.088 0.029 ~ 0.19
FER R S BT 12 0.27 0.040 ~ 12
FER R HREIETED 12 1.4 (<0012 ) ~ 13
FER R Bl iR T 12 0.34 0.037 ~ 1.1
#WENE [BEHBIX BRERHMARKISYE 12 0.082 (< 00070 ) ~ 0.29
AMENNE IR ER)EH 12 0.082 (< 00030 ) ~ 0.25
MENNE IR KERRIER 12 0.13 ( 0.015 ) ~ 0.54
MENNE IR M ERAER 12 0.25 0.034 ~ 0.73
BENE | FEH J\BB/NEEAR 12 0.040 (< 00028 ) ~ 0.14
EHE EHEHHER |F B NER R 12 0.047 0.022 ~ 0.064
EME EHERHRER BKINERE 12 0.11 0.022 ~ 0.40
=58 9 B i =EAER 12 0.048 (< 00024 ) ~ 0.24
HEE b [sali) KEFLIHKYE 58— 12 0.035 (< 0013 ) ~ 0.10
EER HEHRER ABEBEATR 12 0.043 0014 ~ 0.098
EER HETHRER HEASAER 12 0.055 0.020 ~ 0.11
EER HETER BEXSAER 12 0.045 0013 ~ 0.068
EER piEY I mEnE 12 0.064 (0011 ) ~ 0.13
EER piETlG i) 12 0.048 0.024 ~ 0.078
EER BT EETRERS TS 12 0.24 0.045 ~ 1.0
=RE REnEBLTH EBLLIBRENA KIS 12 0078 (0012 ) ~ 0.32
BIRE WL TEMMED 12 0.017 0.0089 ~ 0.023
i LR =t 4] BER 12 0.14 0.025 ~ 0.48
G =141l ZBR/INEE 12 0.032 (< 00050 ) ~ 0.11
FE LR =t 4] BEERE 5B 12 0.061 0.016 ~ 0.23
R LR b=£ Gl 22 NG 12 0.14 0.022 ~ 0.43
[E =t 4l E0B 12 0.017 (< 00040 ) ~ 0.056
FE LR =t 4] ) 12 0.38 0.042 ~ 1.3
LB8 LEETEER B HH AR AT 12 0.016 (< 00080 ) ~ (0026
LB8 LEHRX RN 12 0.024 (< 00080 ) ~ 0.050
LEER K KB RAER 12 0.65 0.046 ~ 2.3
if]=] FERH FHHRISINHEE— 12 0.11 0.018 ~ 0.71
if]=]y E=1=ki) BREHNERE 12 0.16 0.036 ~ 0.41
if]=] A EORIREAER 2 0.051 0.022 ~ 0.080
Wog Amm EAERAFER 12 0.095 (00070 ) ~ 0.46
iT=fcy EERFIAET HAIZa=F—4 85 2 0.26 0.14 ~ 0.39
AR IR I\RTRIED 12 067 0.053 ~ 4.0
KRR Ram ZENERAER 12 0.021 (00030 ) ~ 0.099
EIFR SERE T SERE R BRFT D 12 0.023 ( < 00015 ) ~ 0.071
HiER BEt JLERE A E A 12 0.021 (< 00030 ) ~ 0.062

O EEHEORTAE : FEHEN. FAORKBRE TRERGTHIIBEE. ZOEEEMBFETRRLTUD,

@ REFHHE(&/ME~RXE) ORTHE :
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THURZMJL CERL0EFE : i5E)

BERRE Azt BB s L S I T

dtimiE LR PR EAEI=E o] 12 0.027 (< 00050 ) 0.041
dtiEE ALIRTT R K RISTHEH#B 12 0.063 0.026 0.12
dtiEE P\ il i¥in) 12| ( 00050 )| ( 00050 ) ( 0.010
dtimiE Fikth NEAIER 12 0.14 0.037 0.26
EFR —Bm —Bh=RAR 12 0.014 ( 0.0040 ) 0.038
EHE ETERR IER 12 0.039 (0015 ) 0.055
EHE WEHRK [ER 12 0.060 (0019 ) 0.12
BRE A ER ADBBHEHFHARAER 12 0.59 0.19 1.3

HEE - il HEBYR 12 0.10 (< 00090 ) 0.40
PR fob: il THEPHER 12 0.040 ( < 00028 ) 0.19
BER RBIEH FRBEHR 6 0.020 (< 0.00070 ) 0.042
BER SWFEHAEX ZEEHAER 12 0.068 0.014 027
BER Y1) EMHERBHE 12 0.10 0.033 0.38
BER FHEM FHEXABHD 12 0.10 (0012 ) 0.43
FER pickicl TBRIE R 12 0.018 (00040 ) 0.050
R IRX REERBFR 12 0.16 (0040 ) 0.60
FRED HEAZX B/GEY/\ELE 12 0.10 ( 0.040 ) 0.23
BEINE [EETRFX BFXEED 12 0.13 ( 0.0070 ) 0.42
#ENE |FEH HENPRE 12 0.036 ( < 00028 ) 0.13
#ENR | KF0TH ATRRARERRD 12 0.025 ( < 00017 ) 0.066
HBE REEH HEBHE 12/ (0020 )| ( <0030 ) ( < 0030
RIS Framh HRHAER 6] ( 00050 ) | ( < 00040 ) ( < 0017
ETS il AR EBESLRE 12 0.042 (0022 ) 0.095
ETS il EREBEHFIRE 12 0.044 (0021 ) 0.094
EHE EBH SARAE 12 0014 ( < 00040 ) 0.037
RHR AR WERERZERD 12 0.032 ( < 00070 ) 0.056
FERE R FRRE TR X BHEMBAAIER 11 0.022 (< 00018 ) 0.069
BRRE R EMHPR R-25THIER 12 0.12 ( 0.014 ) 0.26
BRRE R =5 BH=8R 12 0.088 ( < 00070 ) 0.18
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